3PA30K

HAIIIOHAJIBHUM ABIAIIIMHAN YHIBEPCUTET
DakyJbTET JIHIBICTUKH TA COMIiAJIbHUX KOMYHIKaLIi
Kadenpa anraiiicskoi ¢inosorii i mepexaany

3ATBEPIXKYIO
3aBimgyBau kadeapu
« » 20 p-

3PA3OK TECTY 3 JUCHUIIJITHA
«IEPEKJIAJI TAJY3EBOI JIITEPATYPW»

OO6epiTh HEeBaAMI MepEKIIAalbKI PIIIEHHS IS 3BOPOTIB 3 PI3HUX YACTHH MATEHTY
1. «Bunaxio gionocumucsa 0oy (Haily)KUBaHIIlll BapiaHTH MEPEKIIay)

A. The invention is concerned with, B. The present application relates to, C. In a
preferred embodiment of the invention

2. «Bunaxio eionocumbcs 0oy (HailyKUBaHIII BapiaHTH 3a3HaYeHHS] KOHKPETHOI rary3i)

A. In particular, the invention relates to B. The present invention, in general, relates to C.
The invention relates to..., and more specifically to

3. CnopioHena 3asneka

A. Copending application, pending application, B. similar application, parent
application, C. related application, companion application

4. 3azeuuati, mpaouyitino (6€30c000B1 KOHCTPYKIIIT AJIs TOCUJIAHHS Ha MONEPEIHIO
MPAKTHKY)

A. Itis typical to, B. It is customary to, C. It is usual to, D. It is orthodox practice to

5. mepenaya 3Ha4eHHs «doci» (00OCTaBUHU Yacy, IO BKUBAETHCS Y BIIOMUX TEXHIYHUX
PILLIEHHSIX)

A. heretofore, hitherto B. previously, recently C. up to date, in the past D. since, yet.
6. mepegavya MeTH

A. to this effect B. as far as it is concerned C. for this purpose D. to these ends

7. IO3HAYEHHS HEJIOJIKIB (BIJOMHUX TEXHIYHUX PIIlICHB)

A. drawback, inadequacy B. limitation, shortcoming, C. omission, gap D. demerit,
failure

8. [lepepaxyiiTe ci10Ba Ha MO3HAYEHHS «3BUYANHUIN, «ICHYIOUNN», «HASBHUID.
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